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I. Choose the correct answer:

1. How much amount did Swapna borrow to buy seeds, fertilizers, pesticides etc?

(a) Rs 1500 (b) Rs 2000 (c) Rs 2500 (d) Rs 3000
2. Who sends the manufactured garments to other countries of the world?

(a) Exporters (b) Importers (c) Manufacturer (d) Worker
3. Who from the following earns the least in the market?

(a) Exporter (b) Foreign businessman (c) Farmer (d) Merchant
4. The story of Shirt begins with:

(a) Spinning (b) Production of cotton (c) Weaving (d) Selling
5. Small farmers are exploited by;

(@) Consumers (b) Producers (c) Big traders (d) None of these
I1. State whether the following are true or false:

1. Markets offer equal opportunities to all.

2. The weavers depend on the farmers for raw material.

3. Buying and selling takes place at every step in the chain of markets.

4. The foreign business persons do not make profit in the Indian market.

I11. Fill in the blanks:

1. Chain of markets link the producer to the

2. The arrangement between a merchant and weaver is an example of system.
3. Women are employed in garment factories as helpers on wages.
4. Cultivation of cotton requires high level of inputs such as and
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V. Answer the following;

1. How garment exporting factories maximise their own profit?
2. What is putting out arrangement?

3. Why did the trader pay Swapna a low price?

4. Who earns maximum profit in the sale of the shirt?
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